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Despite the support of the president, it is unlikely 
that the new defense bill will pass. A bipartisan 
group of 15 senators has announced that it does not 
support the legislation.

Conclusion:_ ___________________________________

Why?

Premise:_ _____________________________________
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The earliest known grass fossils date from 
approximately 55 million years ago. Dinosaurs most 
likely disappeared from the Earth around 60 million 
years ago. Based on this evidence, as well as fossilized 
remains of dinosaur teeth that indicate the creatures 
were more suited to eating ferns and palms, scientists 
have concluded that grass was not a significant part 
of the dinosaur diet.

Conclusion:_ ___________________________________

Why?

Premise:_ _____________________________________
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Automaker X has lost over 2 billion dollars this 
year due to rising costs, declining automobile sales, 
and new governmental regulations. Because of the 
company’s poor financial situation, it has asked its 
employees to pay more for health care and to accept 
a pay cut. However, the workers at automaker X 
are threatening to go on strike. If that happens, 
automaker X will have no choice but to file for 
bankruptcy.

Conclusion:_ ___________________________________

Why?

Premise:_ _____________________________________

Practice: Finding the Premise
For each of the following arguments, identify the premise or premises that support the conclusion. (Remember, you  
already found the conclusions in the exercise on page 104.) Answers can be found in Part V.
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The rise of obesity among citizens of country Y 
has been linked to a variety of health problems. In 
response to this situation, the country’s largest health 
organization has called for food manufacturers to 
help combat the problem. Since the leading members 
of the nation’s food industry have agreed to provide 
healthier alternatives, reduce sugar and fat content, 
and reduce advertisements for unhealthy foods, it is 
likely that country Y will experience a decrease in 
obesity-related health problems.

Conclusion:_ ___________________________________

Why?

Premise:_ _____________________________________
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Recent advances in technology have led to a new 
wave of “smart” appliances, including refrigerators 
that note when food supplies are low and place an 
order at the grocery store, washing machines that 
automatically adjust the wash cycle and temperature 
based upon the clothes in the machine, and 
doorknobs that can identify the house owner and 
automatically open the door. A technology expert 
predicts that, due to these new innovations, machines 
will soon outnumber humans as the number-one users 
of the Internet. 

Conclusion:_ ___________________________________

Why?

Premise:_ _____________________________________




